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[: ] PE OHE MEA (=3 BAh
*F = 3 5 1 11758 +1.6
#wAR BX 3 4 3 11765 +3.2
Bl E 3 9 1 11780 +1.9
As BE 3 5 5 11789 +1.6
TH -t 2 16 1 11799 +4.1
NERAM 3 11 1 12710 +0.9
L BE 2 11 2 12712 +0.9
w52 1 12 1 12719 +1.3
KiE KM 3 8 4 12721 +1.4
LA 1 16 2 12”43 +4.1
=8 X 1 12 6 12”53 +1.3
43 R 3 10 4 12”53 +1.4
WE E’X 3 14 2 12758 +1.4
Bl FK 1 15 5 12777 +1.4
aE RE 1 17 1 12785 +1.7
&8 A 1 18 1 12797 +1.0
A FRah 1 19 1 13705 +28
5% mt 1 17 5 13718 +1.7
A KT 1 20 2 13719 +0.6
N ES 1 20 3 13722 +0.6
Nt 1EE 1 20 6 13787 +0.6
INE IR 3 10 DNS

B i 1 16 DNS

[ $E O A .5+ BAh
#R BX 3 3 2 23”61 +2.4
JiE KEB 3 5 7 24”55 +32
As BE 3 7 2 24738 +1.3
Mg BEIE 3 7 4 25”05 +1.3
AH EB 3 8 3 25”26 +2.7
;2 $E O A .5+

M8 BEIE 3 3 2 56”34

[ $E #H AE .5

=B 65 2 5 3 2' 29”35

[ $E # ME .

Bk gt 3 2 6 4’29799

EXR KH 2 2 7 431770

Wk 24 3 3 9 4’39759

& & 1 4 2 4747711

A FiIR 2 4 3 4748757

A g2 1 5 2 4’52721

=is &% 2 5 6 4'59”01

2R B 1 6 4 511728

£F &b 1 6 9 5' 25”80

ML 2 6 12 551712

[ 2 FE # BME e

Bk gt 3 1 5 9’ 33746

EXR K 2 1 13 10704723

BH BE 1 2 12 10’ 36”92

[ 2 FE # BME e BAAh
Mg BE 3 1 DNS

[ 2 e e
FEr-z-FA T 2 2 47725

[ 2 # OEE o

£F- 8RB -l 1 4 336”23

B4 PHE # HE & BAh
b pE 3 B 4 5m48 22
IR K 3 DNS

K iHE 1 B DNS




